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  QUESTION 316You are conducting a site survey for a customer that is about to deploy Cisco wireless phones.Which three

recommendations apply? (Choose three.) A.    Minimum SNR should be 15 dB.B.    The minimum recommended wireless signal

strength for voice applications is -71 dBm.C.    Minimum SNR should be 25 dB.D.    Wireless cell overlap should be 20 percent.E.   

Minimum SNR should be 35 dB.F.    The minimum recommended wireless signal strength for voice applications is -57 dBm.G.   

Wireless cell overlap should be 10 percent.H.    The minimum recommended wireless signal strength for voice applications is -67

dBm. Answer: ADF QUESTION 317You are implementing a WLC at a remote site and want to make sure that you are able to sync

up with the Cisco WCS at the central site. Which two statements about this process are true? (Choose two.) A.    If the WLC is

behind a firewall, you must make sure that UDP ports 161 and 162 are open.B.    The Cisco WCS server does not need direct IP

connectivity to the WLC.C.    Cisco WCS will not be able to communicate with the WLC if the WLC is behind a NAT device.D.   

If the WLC is behind a NAT device, the WLC's dynamic AP-manager interface must be configured with the external NAT IP

address. Answer: ACExplanation:

http://www.cisco.com/c/en/us/support/docs/wireless/wireless-control-system/72782-Troubleshoot-WCS-FAQ.html QUESTION 318

Which two options are valid mobility roles in which a controller can operate in during a client mobility session? (Choose two.) A.   

localB.    auto anchorC.    export anchorD.    mobility announcer Answer: ACExplanation:

http://what-when-how.com/deploying-and-troubleshooting-cisco-wireless-lan-controllers/mobility-messaging-cisco-wireless-lan-con

trollers-part-1/ QUESTION 319Refer to the exhibit. Which WLAN IDs will be advertised by an out-of-the-box AP that joins the

WLC for the first time?  

  A.    5,8,12,15B.    5,8,15C.    8,15D.    17,512E.    8,15,17,512F.    5,8,15,17,512 Answer: F QUESTION 320Which statement

about ACLs used on a Cisco WLC is true? A.    A WLAN ACL will override an interface access-list.B.    An interface ACL will

override a WLAN ACL.C.    A WLAN ACL will get applied first followed by an interface ACL.D.    An interface ACL will get

applied first followed by a WLAN ACL. Answer: AExplanation:http://mrncciew.com/2013/03/15/wlc-access-control-list-acl/

QUESTION 321You need to open the appropriate firewall port for RLDP. Which port must you open? A.    UDP 6352B.    UDP

5246C.    TCP 37540D.    TCP 8443E.    TCP 16113F.    UDP 16666 Answer: AExplanation:Rogue Location Discovery Protocol

(RLDP) is an active approach, which is used when rogue AP has no authentication (Open Authentication) configured. This mode,

which is disabled by default, instructs an active AP to move to the rogue channel and connect to the rogue as a client. During this

time, the active AP sends de-authentication messages to all connected clients and then shuts down the radio interface. Then, it
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associates to the rogue AP as a client. The AP then tries to obtain an IP address from the rogue AP and forwards a User Datagram

Protocol (UDP) packet (port 6352) that contains the local AP and rogue connection information to the controller through the rogue

AP. If the controller receives this packet, the alarm is set to notify the network administrator that a rogue AP was discovered on the

wired network with the RLDP feature. QUESTION 322Drag and Drop QuestionDrag and drop the rogue detection "technique" on

the left to the appropriate description on the right.  

 Answer:   

  QUESTION 323What are the three fundamental properties that are provided by the antenna of an AP? (Choose three.) A.   

frequencyB.    gainC.    dB lossD.    polarizationE.    directionF.    modulation Answer: BDFExplanation:An antenna gives the

wireless system three fundamental properties: gain, direction and polarization. Gain is a measure of increase in power. Gain is the

amount of increase in energy that an antenna adds to a radio frequency (RF) signal. Direction is the shape of the transmission

pattern. As the gain of a directional antenna increases, the angle of radiation usually decreases. This provides a greater coverage

distance, but with a reduced coverage angle. The coverage area or radiation pattern is measured in degrees. These angles are

measured in degrees and are called beamwidths. QUESTION 324Refer to the exhibit. A wireless engineer at ACME Company is

troubleshooting a wireless client that is unable to associate to a WLAN. What is likely the cause of the problem?  

 A.    The AP CAPWAP tunnel is down, and is unable to handle any new connections.B.    The client is providing a wrong credential

for dot1x authentication.C.    The WPA PSKs do not match.D.    The client uses WPA, but the AP is advertising only WPA2

support.E.    A firewall is blocking the ports that are necessary for the AP to join the WLC. Answer: B QUESTION 325Why would

you enable the RFC 3578 option when adding a new RADIUS authentication server to a WLC? A.    you want to run both RADIUS

and TACACSB.    to support Disconnect and Change of AuthorizationC.    to encrypt communications between the WLC and the

RADIUS serverD.    to support RADIUS key wrapping Answer: BExplanation:If you are configuring a new RADIUS authentication

server, choose Enabled from the Support for RFC 3576 drop-down list to enable RFC 3576, which is an extension to the RADIUS

protocol that allows dynamic changes to a user session, or choose Disabled to disable this feature. The default value is Enabled. RFC

3576 includes support for disconnecting users and changing authorizations applicable to a user session and supports disconnect and
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change-of-authorization (CoA) messages. Disconnect messages cause a user session to be terminated immediately where CoA

messages modify session authorization attributes such as data filters. QUESTION 326Which two statements are true with regards to

RRM? (Choose two.) A.    RRM neighbor messages are sent at the lowest mandatory speed.B.    RRM neighbor messages are sent

on channel 1.C.    RRM neighbor messages are sent at minimum power.D.    RRM neighbor messages are sent over the air.E.    RRM

neighbor messages are sent every 120 sec by default. Answer: BDExplanation:

http://www.cisco.com/c/en/us/support/docs/wireless-mobility/wireless-lan-wlan/71113- rrm-new.html QUESTION 327Refer to the

exhibit. Which two statements about this output are true? (Choose two.)  

  A.    Unclassified traffic belongs to the traffic class default, and packets in this class are treated as FIFO.B.    For traffic to match

class1, the traffic that is being evaluated must match one of the specified criteria.C.    For traffic to match class1, the traffic that is

being evaluated must match both of the specified criteria.D.    Unclassified traffic will be dropped because no default class is

created. Answer: B  Braindump2go Guarantee:Pass-Certification 350-050 offers absolute risk free investment opportunity, values

your timr and money! Braindump2go latest 350-050 Real Exam Dumps - Your success in 350-050 Exam is certain! Your belief in

our 350-050 Exam Dumps is further strengthened with 100% Money Back Promise from Braindump2go!   
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